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hig; | 0~4|5~9|10~14/15~19| 204X | 304% | 404X | 504X | 604K | 704% |80k T| &
PX 9 4 3 5 13 1 2 1 38
REX 8 7 7 2 4 3 4 2 1 38
X 7 10 7 1 9 5 5 2 46
i) = 19 | 53 7 4 7 8 7 1 1 1 108
EREX 13 | 18 | 18 4 2 6 2 1 1 65
=K 2 4 3 7 1 21
R=a 7 4 1 3 3 1 30
ZEBERX] 11 | 14| 6 4 9 3 1 2 1 54
REELX] 4 | 13 | 11 6 2 5 2 2 49
Z D 7 8 3 1 2 2 1 3 1 28

i 85 | 135 | 68 | 22 | 47 | 52 | 38 | 15 | 12 2 1 | 477
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thisgy | 0~4|5~9 [10~14{15~19| 204X | 304K | 40K | 504X | 604K | 704K (80X 1| %
pX 2 1 1 4
REX 1 1 2
[£7]=3 1 4 1 1 2 9
[1i7] =3 3 1 4
ERE 4 3 1 8
T=X 1 3 4
TE 1 1
RiEmAX 3 1 4
RIELER 0
TNtk 1 1
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